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(ii)

1. s{ crg iil qrq {f,EE d Vd strr ct
rtcdrtcr{qrfrt:
(a) \re?.fcfrqq

G) dqr
(.) it6r
(q +lwqc

c(dr€ lccruT t
(a) tsnrautrfrtere
O) efiqhrqzel\-Sa-alsd

(c) +{rt.efuqruttric
(d) E{itEtt$Tfi

ritETrffiiofo€flrt?
(a) 1130'C
(b) 14ol'c
(c) 1492"C
(d) 1539 "C

1. Name the most abundant metal in the

earth crust :

(a) Aluminium
(b) CoPPer

(c) Iron
(d) Calcium

Pearlite is the mixture of
(a) Ferrite and Cementite

O) Austenite and Cementite

(c) Ferrite and Austenite

(d) None ofthese

3 . What is the melting Point of Iron ?

(a) 1130 "C
(b) 1401 'c
(c) 1492"C
(d) 1s3e'c

P.T.O.
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4. qI{c{ il+{ 3iltq d +t#r tfiqr
ffiarqcHqr*Atz
(a) t 147 "C
o) 1800 "c
(c) 1400 'C
(d) 1492'c

nfi:rftrcc at{ fu+'t tose qwt *at
t
(a) BCC
(b) FCC
(c) HCP
(d) r{4tdr'{Srd

c+' * *rq *-frfir.{ \rfrifuo erd€xrcii

ii (r-s{r.r({ .r y-qFrcl ii qcH fm'{z-cr t
r+<r**t r

(a) {rct

o) sRrdr

(c) fidt+{*Tfi
(d) filiftdf6qlrfiqtu-mr

FCC hsf, q-€{ ii qft 1fuc +d i
FaiqrqroJ *ir t I
(a) \rf
(b) si
(c) qK
(d) sTr6

gs6 fi 3x;6 qfa sqfiga rrtn

7.

5.

tr
1a; fr+ta-afuoer+er{
(t) r{T< er+etii
(c) stdilsqii{Tftsr{srii
(d) F{iit+iTfi

9. qrqrqdqr 6dci df ii +tt+ or
qfr$iliqcqfi+dr r

(a) 0.5o/o

(b) 0.8o/o

(c) L0Vo
(d) z.tvo

8.

(2) 2087

What is the peristaltic reaction
temp€ratue in lron-Carbon diagram ?

(a) ll4't "C
(b) l80o "c
(c) 1400 "C
(d) t492"C

Magnesium and zinc have

structure.
(a) BCC
(b) FCC
(c) HCP
(d) None ofthese

Being different allotropic forms of
same metal, alpha-iron and 1-iron
have same crystal structure ?

(a) True
(b) False
(c) None ofthese
(d) Cannot be determined

There are 

- 

atoms psr unit c€ll in
the FCC structule.
(a) One
(b) Two
(c) Four
(d) Eight

8. In steel carbon is present in
(a) its elemental fonn
(b) combined form
(c) both elemental and combined

form
(d) none ofthese

4.

7.

9. In general, cast
not less than
(a) O.sYo

(b) 0.8%
(c) l.OYo

(d) 2.1%

iron mntains carbon
percent.
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lo. Esrkr Frqrt o.8olo t qm orf+ do t
stwrwtnt
(a) EEm-{Hq-s

(ul trsc{-€€+q-s

tcl q}drs
(d) 3qi-n{*

1y. q+ftilrrsr s}rq ven +i --- vr+
tr
(a) **t
(b) E-flqc

(c) sfqqtsFq

(d) 6r{-{{EB

tz. qrffiil d eq d Bosr 6-{i sl ({
t qfto.tt-frt t

(a) \rifrr
G) +dYIF{

(c) qr*vrr<

(d) r<{t+6'tTfi

13. YrrFr +r 5e stw €td rni.ecr{g 6i
iIqEa-+t r

(a) qn|+sr{c

(b) srFI q{?lrSc

(c) +{r€

1ay +tC vrarrc

14. {+nd d on-q{Efr'r +. tdS, Ec

Efrrrnrq@6{it r

(a) +trdfrdtur
p; *rwdt-*w
(c) {ir€dt+.{sr
(d) qrdrdi'fiq

(3) 2087

10. The ste€I, which contain more than

0.8% carbon is called

(a) Hypo-eutecloid

(b) Hypgr-eutectoid

(c) Eutectoid

(d) All above

I l. The purpose of annealing is to
the steel.

(a) harden

(b) soften

(c) oxidise

(d) carburise

12. In the case of normalising the cooling
rate of object is higher than 

--.(a) annealing

(b) oil quenching

(c) water quenching

(d) none ofthem

13. The main purpose of quenching is to
transforrn the austenite of steel to

(a) Madensite

(b) Fine Pearlite

(c) Bainite

(d) Coarse Pearlite

14. For carburising of steel, we go for

- 

hardening.

(a) Core hardening

(b) Inductionhardening

(c) Case hardcning

(d) Flame hardening
P.T.O.



]vlPl0,6

ls dfqqq (Cr) t,zi dffi+q @o) !!m
lqryur gsrd *- fuv "og* 

*o6
di-orur qfuqr (procesg t I

(a) srflEnqT

(b) rrr{eBrr

(c) Er.$Efiilrt

(d) 6iitiTfi

t6. sr+{ enc€ qttqii 1147 "cf,FFIFtc{
ord-c +.rx qr +{ * fuq r}-S t t
G) {tt€-6
(b) +tMr
(c) +dqs
(d) E{q t frtt ftT

rz. fri-+rse t ort< or qfdvrt

tt
(a) 4.3o

(b) 0.8%

(") 6.67Y,

(d) 0.008%

EtdI

tr18. diergorfu'sa{r++
(a) qrEffi{f

O) srrHna-+,

(c) ffi{-d
(d) qfuqt

fltflT sriftr qhqr
qmsqd'ro'ri t

(a) q-sre-fi qRI

(b) fcEqRr

(c) +i(a) *{(u)
(d) r+{t6i$r&

it {rqrqdqr
I

19.

(4) 20E7

15. The suitable case hardening proctss

for alloy steel containing chromium,

molybdenum is

(a) Cyaniding

(b) Nitriding

(c) Carburising

(d) None of these

In iron carbon diagram, Point
conesponding to 4.3 Yo carton and

I 147 oC represents 

- 

Point.

G) eutectic

O) peritectic

(c) eutectoid

(d) none

The carbon content in c€mentite is

t6.

17.

18.

p€rcent.

(a) 4.3o/o

o) 0.8%

(c) 6.67%

(d) 0.008o/o

The crystal structure of cementite is

(a) triclinic

(b) orthorhombic

(c) hexagonal

(d) cubic

In the induction hardening process we
usually employ _ current.

(a) alternating

(b) direct current

(c) both (a) and @)

(d) None ofthese

19.

lr



20. \rqfri{qqtIEsr {s 3I{6.}
(") FI6l.
o) Er-fir€
(c) 6t-dr{e
(d) {{iti+*Ts

trqrqmrrs'T{s't
(a) fro
(b) sic{
(") ts
(d) +{

rfaqT 6qr dt +i r< (ductile) o-q1
dEr qr darortisrreo-€r *6T lii ftI
qrart
(a) Irs
(b) sRrdr

(c) EcqtqitTfi
(O t+rift-<fuqrffqwwr

zr. frqtt_*ov<ia-qt r

(a) rrft.s
fty ardarr<
(c) d<
1ay +r{rrre

24. ttqfrrqqsrq{st r

(a) l5r{{Idr5{

61 ft-e aer<

(c) fl<we

(O +dar

25. (6' crg irs€ C E{C sl6t S+qtr 6i
{qr{€-+t orfuqnt$t r

(a) q{cruJ qR

61 {+}s-mr
(c) {qtg+srced
(O Effil+lt@r

21.

20t7(s)

20. The pnncipal ore of aluminium is

(a) Zincite

(b) Bauxite

(c) Crolite

(d) None ofthese

21. Galena is the sulphide ore of

G) Zinc

O) Copper

(c) l,ead

(d) Tin

23.

Modular cast iroo is also called
ductile cast iron or spheroidal
graphite cast iron.

(a) True
(b) False

(c) Nooe ofthese
(d) Cannot be detennined

_ steel is most ductile, out of the
following.
(a) Annealed

O) Normalized

(c) Quenched
(d) Carburised

24. is an ore of magnesium.

(a) Camalite
(b) Pitch blende
(c) Gypsum
(d) Galena

The number of outermost electrons in
a metallic crystal gives an idea of its

(a) atomic weight
(b) valency
(c) compressivestrength
(d) No. of electrons

P.T.O.
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26. A qflE d q{rq eqrrqr F{(sl-q +wI
ti c{ r{ a qre t di+a r++i qr+n

ti*,teqa-sr6$t fuqrqdrt
(a) ItR

6; unffirot
(c) t.d.d.
(d) qqttfiqwd

zz. iffiirr {6 ct64r t trq+ ERr Ssrd
of *ffiqrr q{rc + fusq mFa-+

arcqBt sc{ddo.tit *r
irE {rFT 3{r REqrc w tqor qq ti
qt * arqqnroau-sT +-(d t r

(a) 50" - 60 "C
(b) 40" - s0 "c
(c) 70'- 90 "C
(d) l10" - 130 "C

28. Eri \tdrc {+d {6 ceiq €td t tilt
cfr{a+sc{t r\rc{tqs-+{

(a) 5-10%

(b) o-sYo

(c) 3-l0o/o

(d) 10%t 3rFr6,

sqr sq-qnqr qt st{q tr
(a) 6:qaif gun

O) +{{r{q6rqfiqks.{q
(c) qr<foocfuca 6t frfl-mi+kc
1ay wrtmufrw&t

+{rf.dfq{o-{t qrda-qt:
(a) Al, Cu, Zr1 Sn

(b) Cr, W, Mo, V aefi Si

(c) Mn, Ni, Co, iwtt C/,

(d) o-imq Co, Ag Au

29.

30.

(6) 2081

materials are those which

*ft* on the aPPlication of heat with

or without pressure but they require

cooling to set them to shaPe.

(a) Rubber

(b) ThermoPlasticmaterials
(c) PVC
(d) Thermosettingmaterials

Normalising is the process in which
steel is heated with in the normalising

range, which is above the

upper critical temp€rature and kept

for some Period and cooled to room

temp€rature.

(a) s0'- 60 "C
(b) 40'- 50'c
(") 70'- 90'C
(d) 110'-l30'c

28. High alloy steel is that ste€l which
contains alloy constituents more than

(a) S-l0P/o

(b) 0-5olo

(c) 3-10Yo

(d) above 10%

What is the PurPose of heat

treatrnent ?

(a) Improvement in ductilitY

@) Refinement of grain size

(c) Relieving internal stress

(d) AII above

El€,flrents which tend to stabilize
fcrrite :

(a) Al, Cu, Zo, Sn

(b) Cr, W, Mo, V and Si

(c) MrL Ni, Co, and C/,

(d) cr-iron, Co, Ag, Au

26.

27.

29.

30.
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(ii)

(ii,

(iv)

l. (D dterrc+fugcail{qsrq-drfufuc I

Write melting point and tensile strength of lron'

(ii) lcrr qwrr { 6l+{ 6r cfdn( q5d q{ d(f,r c{ qr ur{rq qFdI t ?

What is the effect of increase of carbon percentage on hardness ofPig Iron'

(iiD {dlts{,fuFqq oi qqgr{t t

Explain elastic deformation.

1iv1 <t-<<d r(wd-d-qi dtt sr<rfufiqs I

Write differenir between white and gray cast iron'

(v) 6r+{Etf, \'?iqeiq*dEtqft{fuddfrq I

Define Carbon Steel and Alloy Steel' (2x5)

2. (i) eqr srqR+it trqr qrdl t t
Why heat treatment is done ?

(ii) wrsqrlR+.srqrqr#if + rrc frfuS t

Name the common operations of heat treatment'

(7)

(6+6)

P.T.O.
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3. t{q !-firii et rrrerrr+ :

Explain the following Processes :

(i) +{dr&q
Normalising

1ii; ai<torw
Hardening (6+6)

+. eto#ryilwfqq HEii 6I f,r eqre{gdlt t
Discuss the effect of following elernents on the properties of steel :

(D t{6'd
Nickel

(ii) ffiq
Manganese

(iii) zrd{
TuIrgston

(iv) *ikqq
Vanadium (3x4)

s. sr{flr+{H +rmq+1 qq-gei ilrEc}apit+i *tefuq t

Explain the process of carbwisation and write its advantages also. o2)

6. (i) raedftfi{qflItr
What is case hardening ?

(iD ild€tt6{q}et{ctdfics r

Write objects of case hardening.

(iii) ilf, dfr6.{q fu-+ qrrii qr fHI qrdr t t
On which parts case hardening is done ? (4x3)

7. (i) eta*ezdtdfrtus t

Write composition of steel.

(ii) *m6I srfro{ur dfrq, ssilUr q sq+T S fufuq t

Write classification of steel, write its Properties and uses also- (4+t)

s frrawffirqffirfrtutuq:
Write short notes on the following :

(D \rqfrt{ccqiik+,+T6-dwi tJoI

Important properties of Aluminium and Zinc.

(ii) f{qdrviwfur
Low Temperature Ternpering

(iii) {s{r{ d+n{ur
Induction Hardening (4x3)

(E) 20a7


